





«C 7 1)
6-10 7. - 9.6 8. 5
( mg/ 1) 100 <2p - 31 21. 2
(mg/fl)z1o0 <1 1
( mg/fl)2000 2500 - 1200 649
(mg/il )10 <0.95 - 3.8 0.8
(mg/{l)o. 1 <0.0 - 076 0.p42
( mg/ 11)oo0 <15 34 22.7
(mg/ 1) 20 <15 18 15. 3
(mg/ 1) 0.5 <0]. 3 <0. 3
( mg/il)1 <0.p <0. 6
( mg/ 1) 15 <2 <2
(mg/1]) 200 20./11 - 75 41. 8
C) 43 27 34 31. 2
( mg/ 1) 2 <0.1 0. 4 0.15
( mg/ 1) 5 <1 < 1
(mg/ 1) 0.1 <0[. 1 <0.1
( mg/ 1) 1 <0. B <0. 3
( mg/ 1) 2 <0.5 1.7 0.63
( mg/ 1) 2 <1 < 1
( mg/ 1) 5 <0.Pp <0. 2
( mg/ 1) 0.05 <g.05 <0.05
( mg/ 1) 2 <1.D <1
( mg/ 1) 2 <0. # <0. 4
( mg/ 1) 5 <1 < 1
(mg/ 1) 2 <1 < 1
#
(mg/ 1) 10 <6.7 - 7.9 6.9
( mg/ 1) 5 <1 -| 1.8 1.1
( mg/ 1) 10 <2 <2




Al drin (mg/b)o1 <(d.01 <0.01
BHCS (mg/|l)o. 01 <(d.01 <0.01
(mgjl)o. 01 <(d.01 <0.01
( mg/ 1) 0.1 <0|. 1 <0. 1
1,1, 1-
(mg/ 1) 0.05 <d. 05 <0.05
(mg/ 1) 0.008 <0. 003 <0.003
B
(pcl/ 1) 10000 <10000 <10000
-226 (pcl/ 130 <3d c 30
-90 (pc/{l)1o00 <100 <100




( |/
(md/ m 75 4.7 4.7
(
(mgy m 100 <4l 5 <4.5
(
) (Mg / m 25 <0.|5 <0.5
(
(mg’ m 100 23| 0 23.0
(md/ 750 50| 0 50. 0
(md/ m 38 6. 3 6. 3
(
(mg’ m 7.5 <0|716 <0.716
(md/ m 7.5 <1l. 0 <1.0
(md/ m 7.5 <4l. 9 <4.9
( )
(md/ m <0. 007 <0.007
(md/ m <0.060 <0.060
(md/ m <0.604 <0.604
( )
(md/ m 10 <0.716 <0.716
(md/ m 10 <0.p83 <0.083
(md/ m 10 <0.p07 <0.007
(md/ m 10 <0.0143 <0.143
(md/ m 10 <0.p60 <0.060
(mg’} m 10 <1.68/1 <1.68|1
( g/ m 0.1 0.,0005 0.0005




(
( ) 8 (
) 12.2 -| 12. 12.
( %) 30
) 55 - B4 71.0
(ppm) 0.5 <0| 5 <0.5
(ppm) 0.1 <0/02 <0.02
(ppm 10 <0.|5 <0.5
(ppm) - <0.5|- 6. T.
(ppm) - <0.5|- 0. 0.
(ppm) - <1 -| 3.1 1.-1
(ppm) - <0.5|- 5. 0.
(ppm) 25 <2.5| - 8. 3.
(ppm) 20 <1 <1
(ppm 10 <5 5
(ppm 10 <1 -| 8. 4 1.3
(ppm 5 <5 5
(ppm) 5000 <15 <15
(ppm) 10 <5 5
(ppm) 2 <2 2
(ppm) 1 <1 1
TCDD (I TEF )
(pphb) 1 <1 1




